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BCTYII

KoHTpoJibHI poO0TH 3 HaBUAIBHOT JUCITUTLIIHU «AHTIIIHChKA MOBa» CKJIJIEH] JIJIsl CIyXadiB
OiAroToBYOro  BimgiieHHs ~— HaBuanbHO-HAyKOBOrO  IHCTHTYTY  HENEPEpPBHOI  OCBITH
HarmionanpHOTO aBiaIiiHOTO YHIBEPCHUTETY BIAMOBIAHO OO JiF040i poOOYOi HaBYAIBHOI
nporpamu (iagekc P 11-11.9/16-3), nepkaBHUX CTaHgapTiB 0a30BOi Ta IMOBHOI 3arajbHOI
CepeqHbOi OCBITH, IMPOrpaMU 30BHIIIHBOTO HE3aJEKHOTO OI[IHIOBAHHS YKPaiHCHKOTO LEHTPY
OLIIHIOBAHHS SIKOCT1 OCBITH 3 ypaXyBaHHSIM HaBYAJIBHUX MPOrpaM JJIsi YYHIB 3arajlbHOOCBITHIX
HaBYAJIbHUX 3aKJIa/IiB.

HuHi crano oueBUAHHMM, IO 3HAHHS 1HO3EMHHX MOB — II€ KJIIOY JIO YCHIXY B Cy4aCHOMY
CBITi, JI¢ CIUIKYBaHHS 1HO3EMHMMH MOBaMH Ta 0OpoOKa Benu4e3Hux oOcsriB iHdopmarrii
HaOyBae Bce OLIBIIOrO 3HAueHHS. B meprry yepry 1e CTOCYeThCSl aHIJIIMCBKOI MOBH, sKa
BHACJIJIOK HUHIIMIHBOI ToOami3amii craja odiliifHOI MOBOK MiXHApPOIHOTO Oi3HeCcy Ta
TOPTiBII, [HTEpHETY 1 TeXHIKH, HayKu 1 MUCTeTB. CaMy aHTIIIHChKa MOBA 3aliMa€ JICBOBY YaCTKY
IIOBOTO MOBHOTO mpoctopy. DaxiBIi pi3HMX ramy3eidl BCE 4YacTillle CTHKAEThCS 3 HEI Y
CHUIIKYBaHHI 3 1HO3EMHHUMH KOJIETaMH Ta TWapTHepaMu IO poOoTi. AHIIiNCbKa MOBa
BUKOPHUCTOBYETbCS NpPU 3allOBHEHHI aHKET, CKJIaJaHHS pe3loMe, Y IIJI0OBOMY Ta MPUBATHOMY
JTMCTyBaHHI. BOJOAIHHA aHIITIMCEKOI0O MOBOIO — BXK€ HE €K30THYHE SBHINE, a 00 €KTUBHA
HeoOximHicTh. HuHi 11 BUBYAIOTH Yy AUTAYUX CaJKaxX, LIKOJIAX, BY3aX, HE KaXKy4d BXKE IPO
YHCJICHHI KypCH Ta TPEeHIHTH. Bike 3apa3 MO)KHa 3yCTpPITH IIKOJIM, B SIKUX aHTIHCHKOIO MOBOIO
BUKIIQJIAIOTHCSI OKPEMi 3arajibHOOCBITHI MpPEAMETH WIKUIbHOI mporpamu, a B HarioHaasHOMY
aBiariinomy yHiBepcuteti y 2000 porri Oysi0 3arpoBaKeHO MPOCKT aHTJIOMOBHOI OCBITH, SIKUH
nependayaB BUKIAJaHHS B OKPEMUX aKaJIeMIYHUX IpyHax aHrIiichbKO MOBOIO abCOIOTHO BCIX
JUCIUIUTIH. YeproBuM BaXJIMBHM CBIIYCHHSM aKTYyaJbHOCTI AHIJTIMCHKOI MOBH  CTajo
nporojomeHHs 2016 poky pokoM aHTIIHCEKOI MOBHU B YKpaiHi.

Ha miagrorosuomy Bigainenni HHIHO HAY anrmificbka MOBa BHUKJIQIa€ThCs BiJ] CaMOTO
MOYaTKy iX iCHyBaHHS. A BIATOMI, KOJHM B YKpaiHi AJisg BCTYMY J0 BUIIMX HABUAIbHHX 3aKJIa/iB
OyJi0 3ampoBaKEHO 30BHIIIHE HE3aJeKHE OI[IHIOBaHHS, BHUKJIAJaHHS aHMJINChKOI MOBU Ha
MirOTOBUOMY BiJJIIEHH] CTaJIO MiAMOPSAKOBAHE €IMHIM METi — SIKICHINA MiATOTOBII MalOyTHIX
abitypientis 10 3HO.

KoHTtponbHi po6oTH € 3ac000M pPYOIKHOTO KOHTPOJIIO 3HaHb, OTPUMAHMX CIIyXadaMH IIiJ|
yac BHBYCHHS JAHOI JUCHUIUIIHM HAa MATOTOBYOMY BimnieHHi. [Ipu ckimamanHi TecTiB Oyio
BUKOPUCTAaHO MaTepiajii MiIPYyYHHUKIB, PEKOMEHIOBAHUX MIHICTEpPCTBOM OCBITH 1 HayKu
Vkpainu. I[lpencraBieHo 3aBAaHHs PI3HUX PIBHIB CKJIAQIHOCTI, SIKI, BIAMOBIIHO 10 IPOTpaMu
3HO BkmOYaroTh 3aBAaHHA 3 BHOOPOM OJHIET TPaBWIBHOI BIJIMOBiAI, 3aBJaHHSI Ha
BCTAHOBJICHHSI BIANOBIJHOCTI, 3aBJaHHA Ha 3allOBHEHHS NPONYCKIB y TEKCTi, 3aBJaHHS 3
PO3TOpHYTOIO BiAMOBiAM0. POG0OTa 3 TECTOBUMM 3aBIaHHSAMHM CIIPUATHME 3aCBOEHHIO MaTepiaiy,
nepeadayeHoro poOOY00 HAaBYAIHHOKO MPOTrpaMol0 3 JaHOTO MpeaMeTy. B pesymbraTi mporo
3pocTaTUMe MOJIIMBICTh Cllyxada sIK MaiOyTHhOro abiTypi€HTa YCHIIIHO MPOWTH 30BHILIHE
HE3aJIe)KHE TECTYBAHHS 3 HABYAIbHOI IUCIUIUTIHN «AHTITIHCHEKAa MOBay.

KoHTponbHi poO0TH MOXKYTh BUKOPUCTOBYBATHCS SIK CIIyXadaMH ITiITOTOBYOTO BiIA1ICHHS
HaBuanbHo-HaykoBoro iHcTUTYTY HemepepBHOI OCBITH Il HaBYaHHS B CHUCTEMi JOBY31BCHKOT
MiJTOTOBKH, TaK 1 IHIIMMU YYHSMHU BHUITYCKHUX KJIAaciB 3arajlbHOOCBITHIX HaBYAIBLHUX 3aKIaIiB
JUTSL CaMOCTIMHOT MiArOTOBKH [0 3arajipHoHarionansHoro 3HO.



1. MOACHIOBAJIBHA 3AITUCKA

30ipHUK MICTUTh KOHTPOJIBHI POOOTH 1 JOMAIlHI 3aBJaHHS 3 JUCHUIUTIHA «AHTTIHCHKA
MOBay, TepeadaueHi JyUisi BUKOHAHHS Ha IMIArOTOBUOMY BIJUIUICHHI O BCTYIY JIO BUIIHX
HaBYAIBLHUX 3akiaaiB 1 ckiaganas 3HO 3 miel qucuuminu. KoHTponsHI poOOTH pU3HAYEH] s
NEePeBIPKU HABUAIbHUX JOCATHEHb CIyXadiB 32 PEUTUHIOBOIO CHCTEMOIO OLIHIOBAHHS HAOyTHUX
3HaHb Ta BMiHb.

KonTposnbhi p06OTI/I BUKOHYIOTHCSI 3 METOI0 (DOpMYBaHHSA Ta 3aKpiIJIEHHS y CiyXadiB
TEOPETUYHUX 3HAHb 1 MPAKTHYHUX HABUYOK 3a BHBUYCHMMH TeMamu. Koxua 3 HOTHPBLOX
KOHTPOJIbHUX pPOOIT Mae 4 BapiaHTH, CKIAJCHHX 3a €IMHOI0 CXEMOI0, aHaJOTIYHO Tii, M0
npuitHATa y TectoBux 3ommuTtax 3HO 3 anrmifickkoi MoBH, po3po0bieHii YI[OSO.

KoHTposibHa po0oTa CKIagaeThCcs 13 3aBJaHb TPbOX PiBHIB. 3arajbHa KIJBKICTh 3aBJaHb
KOHTPOJIbHOI po00TH — 5. Ha BUKOHaHHA 3aBJlaHb KOHTPOJBHOI POOOTH BiABEACHO 45 XBUIIMH.
BukoHaHHS KOHTPOJIBHOT pOOOTH OLIIHIOETHCSA 32 60-0aIbHOI0 CHCTEMOIO.

Posmoain 6aiiB 1Mo 3aBAaHHSX 3IHCHIOETHCS TAKIM YHHOM:

Piensn 1. 3aBaanHsi 3 BHOOPOM 0/IHi€l MPaBUIBLHOI BiiNOBii (KUIbKiCTH 3aBIaHb — 2).
J10o KO>KHOTO 3 5 peueHb y 3aBIaHHI MPOMOHYETHCS 4 BapiaHTH BIAMOBINCH, cepes SKHUX JIHIIE
OJIMH TPaBWIbHHNA. 3aBIaHHS BBAKAETHCS BHKOHAHHMM, SIKIIO CJIyXad BHOpaB 1 TMO3HAYHB
NpaBWIbHY BiNMOBiAb. Koowcne peuenns oyinoemoca 6 1 6an. Bevoeo 3a 3ae0anus I piens — 10
banis.

PiBensb |1 . 3aB1anHs Ha 3aMI0BHEHHSI MPOMYCKIB y TeKCTi (KiIbKicTh 3aB1aHb — 1).

VY 3aBHaHHI TPOMOHYETHCS JOMOBHUTH PEUCHHS B TEKCTI CIOBaMH ab0 CIIOBOCIIOJIYYCHHSIMH 3
MOJIaHUX BapiaHTIB. 3aBJaHHS BBAXKAETHCSI BUKOHAHUM IPABUJIBLHO, SKINO CliyXad BUOpaB 1
MO3HAYMB MPABUIBHUI BapiaHT BiAnoBiai (nitepy Bix A no H maBmpoTtu koxHoi nudpu Bing 1 1o
5). Koorcna npasunvha 6ionosios oyinioemocs 6 2 6anu. Bevoeo 3a 3asoanns I pisus — 10 6anis.

Pisenn |11. 3aBaanHs 3 po3ropHyToI0 BignoBimIio (KijibKicTh 3aB1aHb — 2).
3aBganusa Ne 4 ta Ne 5 oyinroromocs 6 20 6anis xooiche. Bevoeo 3a 3ae0anns 111 pisus — 40 banis.

JloMamHi 3aBlaHHST BHKOHYIOTHCS CIyXadaMHd 3 METOK CaMOCTIHHOI cucTeMaTH3allii,
3aKpIMJIEHHS Ta PO3IIUPEHHS] TEOPETUYHHUX 3HAHb 3 aHTJIHCHKOI MOBH 32 BUBYCHHMH TEMaMH 1
PEKOMEHIIYIOThCSl K CIIOCIO MiATOTOBKM 0 MOMATBIIOr0 BUKOHAHHS KOHTPOJIBHUX POOIT.
KoxHe 3 1BOX JOMalIHIX 3aBJaHb Takok Mae 4 BapiaHTH 3 TPhOMa PIBHAMH CKIQIHOCTI Y
KOXXKHOMY, aJie KiUIbKICTh 3aBAaHb y HhOMY — 6. Ha BUKOHaAHHS 3aBJaHb KOHTPOJIBHOI POOOTH
BimBeneHo 60 xBuinH. BUKOHAHHS QOMAIIHBOIO 3aBJAaHHS TAKO0X OLIHIOETHCS 3a 60-0aIbHOIO
CHCTEMOIO:

PiBenn 1. 3aBnanns 3 BHOOPOM O/IHi€T MPaBUJIbHOI BiANOBiAi (KibKicTh 3aB1aHb — 2).
Jlo KoXHOTrO 3 5 pedyeHb Yy 3aB/laHHI MPOMOHYEThCS 4 BapiaHTU BIAMOBIACH, cepell SKUX JIHUILE
OJIMH TIPaBWIbHHNA. 3aBJaHHS BBAKAETHCS BUKOHAHWM, SIKIIO CJIyXad BHOpaB 1 TO3HAYHB
NpaBWIbHY BiINOBIIb. KooicHe peuenns oyintoemocs 6 1 6an. Bcvozo 3a 3aedanns I piens — 10
banis.

PiBens |1. 3aBnanHs Ha 3an0BHEHHSI MPONYCKIB Y TeKCTi (KUIbKiCTh 3aBAaHb — 1) Ta Ha
BCTAHOBJIEHHS BiImoBigHocTel (KijbKicTh 3aB1aHb — 2).

VY 3aBAgaHHI Ha 3alOBHEHHsS MPOMYCKIB y TeKCTi (3aBaaHHs Ne3) MpOMOHYEThCS TOTMOBHHUTU
peUeHHsT B TEKCTI cloBaMH a00 CIOBOCIIOJYYCHHSIMU 3 TIOJaHUX BaplaHTiB. 3aBlIaHHs
BBKAETHCSI BUKOHAHUM TMPABUIBHO, SKIIO CIyXad BI/I6paB 1 TIO3HAYMB TMPaBUIHHHMA BapiaHT
BiJIMIOBI1 i (mTepy Bim A mo H nHaBmpotu koxuoi mudpu Bim 1 mo 5). YV 3aBganHi Ha
BCTAHOBJICHHsI BIIMOBiAHOCTEH (3aBHaHHs No4) MTPOMOHYETHCS MiAIOpaTH TBEPKEHHS M0
BIJIMOBIAHOTO (hparMeHTy TEKCTy. 3aBIaHHs BBAXKAE€ThCS BUKOHAHUM IMPABUIBHO, SIKIO CIyXad
BCTAaHOBUB NPaBWJIbHY BIJMOBITHICTD 1 MO3HAYMB MPaBUIbHUN BapiaHT BIAMOBiAl (iTepy Bix A
1o H naBnpotu koxHoi 1udpu Bix 1 1o 5). Koowcna npasunvha 6ionogios oyinioemvcs 6 2 o6anu.
Bcvoeo 3a 3a60anns 11 pisna — 20 banis.

Pigenn |11 . 3aBaanHs 3 po3ropHyToI0 BianoBiio (KiIbKicTh 3aBIaHb — 2).
3aBganus Ne 5 ta Ne 6 oyinroromocs 6 15 6anis xooicne. Bevoeo 3a 3a60anns 111 pisns — 30 b6anis.



3PA3KH KOHTPOJIBHUX POBIT

KOHTPOJIBHA POBOTA Ne 1.
IMEHHUK. APTHUKJIb (THE NOUN. THE ARTICLE)
Level I — Multiple choice
I. Choose the equivalent for the sentence using the possessive case where possible
1. Jessica works for a magazine for men.

A Jessica works for men’s magazine. C Jessica works for the men’s magazine.

B Jessica works for a men’s magazine. D Jessica works for a magazine for men.
2. The life of students is full of fun.

A The students’ life is full of fun. C Students’ life is full of fun.

B The student’s life is full of fun. D The life of students is full of fun.
3. The roof of the house needs painting.

A The house’s roof needs painting. C House’s roof needs painting.

B The roof’s house needs painting. D The roof of the house needs painting.

4. The future of a girl depends very much on her character.
A A girl’s future depends very much on her character.
B The girl’s future depends very much on her character.
C A girls’ future depends very much on her character.
D The future of a girl depends very much on her character.

5. Brian studies the history of the English Language.
A Brian studies the English Language’s history.
B Brian studies English Language’s history.
C Brian studies the English Languages’ history.
D Brian studies the history of the English Language.
I1. Insert articles (a, an, the) if necessary
1. Did you come by ... air? — No, [ came by ... sea. I had ... lovely voyage on ... Queen
Elizabeth I1.

A the, the, a, the B —, the, the, the C——a- D— — a the
2. ... Lake Erie is one of ... five great Lakes in ... North America.

A the, —, the B —, the, — C —, the, the D the, the, —
3 Richard plays ... basketball and ... baseball at ... Boys’ Club this year.

A— — the B the, the, a C —, the, the D the, — a
4. We had ... fish and ... chips for ... lunch.

A—, — the Ba,— — Ca,— the D— — —
5. One law for ... rich and another for ... poor.

A- - B the, — C the, the Daa

Level II — Reading Comprehension

I11. Read the text below. Choose from (A-H) the one that best fits each space (1-5). There are
three choices you do not need to use.

While many infectious diseases were once all but eliminated from the United States, there's
an evidence that climate change is a factor (1) and make a comeback.

Mosquitoes capable of carrying and transmitting diseases (2) , how live in at
least 28 states. As temperatures increase and rainfall patterns change — and summers become
longer — these insects can remain active for longer seasons and in wider areas, greatly increasing
the risk for people who live there.

The same is true on a global scale: increases in heat, precipitation, and humidity can allow
tropical and subtropical insects (3) into new places. This, coupled with increased



international travel to and from all 50 states, means that the US is increasingly at risk for
becoming home to these new diseases.

Nearly 4,000 cases of imported and locally-transmitted dengue fever were reported in the
US between 1995 and 2005, and that number rises to 10,000, (4) . Dengue fever,
also known as «Breakbone Fever», is characterized by high fever, headaches, bone and joint
aches, and a rash.

West Nile virus, which first entered the US in 1999, expanded rapidly westward across the
country. By 2005, (5) . Warmer temperatures, heavy rainfall and high humidity have
reportedly increased the rate of human infection.

checking for information on recent disease outbreaks

over 16,000 cases had been reported

that can help them expand their range

to bleeding, seizures, and death

to move from regions where infectious diseases thrive

like dengue fever, for example

when traveling internationally

when cases in the Texas-Mexico border region are included
Level IIT — Free-Answer Task

IV. Make the sentences plural with all necessary changes.

A copy of the contract was in this box.

When | was in the park, | saw a goose swimming in the pond.
She knows this lady-in-waiting in the photo.

Her son-in-law lives in this city.

The child is playing in the yard with a toy-deer.

TOTTMUOUO >

. Give appropriate Ukrainian equivalents of the noun-groups below.

International amateur golf tournament;

strict data protection laws;

nuclear power plant disaster;

the US Senate Foreign Relations Committee;
the three-man United Nations mission arrival.

agrobdbE < OO E

KOHTPOJIBHA POBOTA Ne 2
INPUKMETHUK. TIPUC/IIBHUK. CTYIIEHI ITIOPIBHAHHSA. BUJO-YACOBI

®OPMMU JIE€CIOBA. Y3IOJX)KEHHSA YACIB (THE ADJECTIVE. THE ADVERB. THE
TENSES OF THE VERB. THE SEQUENCE OF TENSES)

Level I — Multiple choice

I. Insert prepositions where necessary.
1. Are you coming ... us? — No, I’'m waiting ... Tom.

A with; for B with; — C to; with D to; —
2. He’s heard such a lot ... her that he’s looking forward ... seeing her.

A about; for B about; to C of; toward D from; off
3. 'm sorry ... being late ... Monday.

A of; on B to; in C about; at D for; on
4. The windows haven’t been cleaned ... weeks.

A by B for Cin D within

5. His life is out ... danger ... that terrible accident.



A —; from B —; of C of; after D off; before
. Complete the sentences with proper pronouns.

1. Jack, there is ... in my soup. ... is a mosquito!
A it; this B something; it C it; that D something;
what
2. Jason has only ... to blame for the mistake he made.
A somebody B himself C him D another
3. Tom has lost ... pen. He will have to buy ... .
A that; one B this; other C his; the other D his; another
4. I’m thirsty. Can I have ... cold water?
A some B any Cme D myself
5. You sent ... two letters, but we have received ... of them.
A these; no one B us; neither C both; none D those; no

Level II — Reading Comprehension

I11. Read the text below. Choose from (A-H) the one that best fits each space (1-5). There are
three choices you do not need to use.

Climate change has contributed to a rise in extreme weather events, including higher-

intensity hurricanes in the North Atlantic and heavier rainfalls across the country. Scientists

project that climate change (1) , putting many communities at risk for devastation m
floods.
Flooding can cause (2) , including death and injury, contaminated drinking

water, hazardous material spills, increased populations of disease-carrying insects and rodents,
moldy and community disruption and displacement.

As rains become heavier, streams, rivers, and lakes can overflow, increasing the risk of
water-borne pathogens flowing into drinking water sources. Downpours can also damage critical
infrastructure (3) , triggering sewage overflows that can spread into local waters.

Cities where older sewer systems carry sewage and rain water in the same pipes, (4)

During heavy rains, these pipes cannot handle the volume of storm water and wastewater, and
untreated sewage is often discharged into local waters (5)

A will increase the frequency of heavy rains
B where people swim and play
C like sewer and solid waste systems
D which cause diarrhea, abdominal pain, vomiting, headache, and fever
E are at great risk for sewage spills
F including where your family will stay in case of flooding
G protected your family from floods and related illnesses
H a range of health impacts and risks
Level III — Free-Answer Task
IV. Change the sentences to the Passive Voice
1. They built this castle in the 16" century.
2. Mary has lost her key.
3. They look after the children there.
4. They will not finish this work tomorrow.
5. The workmen are repairing the road.
V. Change the sentences to the Active Voice
1. All the students are supplied with textbooks.
2. The floor was painted last summer.
3. The sick man is being operated on.



4. This underground line was being built at that time.
5. A new business centre has been built in our town.

KOHTPOJIbHA POBOTA Ne3
IH®IHITHUB I KOMIIVIEKCH 3 IHOIHITUBOM. 'EPYHIIM TA KOMIIVIEKCH 3

TFEPYHIAIEM. BIAMIHHOCTI Y B.JKUBAHHI TEPYHISI TA IH®IHITUBA (THE
INFINITIVE AND INFINITIVE COMPLEXES. THE GERUND AND GERUNDIAL
COMPLEXES. THE DIFFERENCES BETWEEN GERUND AND INFINITIVE)

Level I — Multiple choice

I. Complete the sentence.
1. Kate watched the lawyer ... the bottle of pills, take one out and swallow it with a sip of
water.

A open B opened C to open D opens
2. It was terrible for me ... there till 1 should die.

A be B to be C been D to have been
3. Nobody seemed ... that he had been hurt.

A notice B had noticed C to have noticed D to have been noticing
4. He saw her ... those white shoulders, heard her ... and smiled to himself.

A to shrug, to murmur C shrug, to murmur

B to have shrugged, murmur D shrug, murmur

5. How can | make you ... what | feel for you?
A understand B understands C understood D to understand

I1. Complete the sentences using the right form of the infinitive or gerund.
1. It's not much use ... a bicycle if you don't know how ... it.

Ato have, to ride B having, riding C having, to ride D to have, riding
2. He was afraid of ... someone who might ... him.

A being met, recognize C meeting, recognize

B having met, to recognize D having been met, to recognize
3. I distinctly remember ... the TV off, but I didn’t remember ... the front door.

Ato turn, to lock B turning, locking  C turning, to lock D to turn, locking
4. Did you remember ... him the key of the safe? — No, | didn't. | regret ... to do it.

A to give, to forget C giving, to forget
B giving, forgetting D to give, forgetting

5. Please forgive me for ... you but would you mind ... that last sentence?
A interrupting, repeating C having interrupted, to repeat
B interrupting, to repeat D having interrupted, repeat

Level IT — Reading Comprehension

I11. Read the text below. Choose from (A-H) the one that best fits each space (1-5). There are
three choices you do not need to use.

Michael Jordan is known throughout the world (1) he brought to the Chicago
Bulls basketball team. We saw his majestic feats on the court.
However, many of us did not get a chance (2) and determination on the

practice court. His quote below tells a lot about the man and his determination to be the very
best.



“I've missed over 9,000 shots in my career. Twenty-six times I've been trusted to take the
game winning shot and missed. I've failed over and over again in life. And that is why |
succeed”.

Determination is having the guts (3) . Michael could have given up after
missing a couple of those game-winning shots. He didn't. Rather, he learned from those missed
opportunities and continued to work even harder (4)

Most of us will never be NBA basketball players, but we can all learn something from
Michael's determination (5) . And we can apply those lessons to whatever we are
doing — school, work, hobbies, sports, etc.

A toward reaching his goals E to be the best

B different ways you can overcome F rather than a stopping point

C for the victories G to keep going even when it gets tough
D to find a mentor or a coach H to see his total commitment

Level III — Free-Answer Task
IV. Translate into English using an infinitive or infinitive construction.
1. Kasanu, oo nokiiinuii (late) 6ateko JIxxopmka OyB Oaratuii 3HATHUI JKEHTIIHMEH.
2. Komu wmictep Ilerorti 3HaiimoB Emini, BiH BUpIIKB, 10 HaWKpaiie, 1[0 BOHH MOXYTb
3pobuTH, — 11e oixaru 10 Ascrpaiii. (For-To-Construction)
3. Manenbka Hem i ii gigyce Oynu ayke camotHi (to lead a solitary life); y Hux we Oyso Hikoro,
XTO MIT OM IIPO HUX IMOTYPOYBATUCH.
. Mictep OcOopH XOTiB, 0O HOTO CHH OAPYXHUBCA 3 EMiii, 6aThKO K01 OyB AyKe OaraTwid.
. Bigomo, mo pumisHM moOynayBanw Ha bBpHTaHCHKMX OCTpOBax rapHi Jopord i Oarato
doprers.
. Translate into English using a gerund or a construction with a gerund.
. beH numIaBcs TUM, 110 POOUTH TaKy BKIHBY POOOTY.
. Micic Konmnepoinba He 3anepedyBasia npoTu Toro, abu Jlesin moixas 3 Ilerorti go Spmyra
(Yarmouth).
. Bubaure, 1110 3MycHB Bac yeKaTu.
4. Tom BiamoRiB, mo TiTka [lomi 3anepedyBatume npoTu Toro, abu ben OiunmuB (to whitewash)
napKaH.
5. Bin O0yB ny»xe 31uBOBaHuUi, 1110 Mepi He BUMIILIA 3YCTPITH HOTO.

[Sa e~
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KOHTPOJIBHA POBOTA Ne 4
YMOBHUI CIIOCIB Y PEUEHHSAX PI3HOT'O TUITY (THE SUBJUNCTIVE MOOD

IN DIFFERENT TYPES OF SENTENCEYS)
Level I — Multiple choice
I. Complete the conditional sentences below.

1. If you ... twenty years younger, what ... in this situation?

A would be, would you do C would have been, had you done
B were, would you do D were, would you have done
2. Ann ... a better job if she ... any foreign language.
A would have, spoke C would have had, speaks
B would have, had spoken D would have had, has spoken

3. If you ... so late, there ... any problems with the boss yesterday.

A hadn’t come, wouldn’t be C hadn’t come, wouldn’t have been
B didn’t come, wouldn’t be D didn’t come, wouldn’t have been



4. How ... to the airport if you ... your father’s car tomorrow?

A would you get, don’t have C would you get, didn’t have
B will you get, didn’t have D will you get, won’t have
5. Harry ... a composer if he ... to the best music teacher.
A wouldn’t become, didn’t go C wouldn’t become, hadn’t gone
B wouldn’t have become, didn’t go D wouldn’t have become, hadn’t gone

I1. Complete the sentences using the right form of the Subjunctive Mood.
1. They had to whisper lest anybody ... them.

A might hear B may hear  C could hear D should hear
2. God ... for her kind heart.

A thank B thought C would thank D should thank
3. I demand that you ... with me.

A would come B should come C came D will come
4. 1 was brought up in a good family. Why ... with respect?

A couldn’t I be treated C wouldn’t I be treated

B am I not be treated D shouldn’t I be treated

5. I'wish you ... so early. We really enjoyed ourselves at the party!
A had left B hadn’t left C shouldn’t have left D wouldn’t leave
Level II — Reading Comprehension
I11. Read the text below. Choose from (A-H) the one that best fits each space (1-5). There are
three choices you do not need to use.

Dubai’s Burj Khalifa, (1) , has no more than a year been the tallest building in the
world.

Broad Group is reported to build the world's next tallest building in Changsha City, Hunan
Province, China. Using a revolutionary modular construction technique they will be able to build
the record-breaking tower (2) , Which will let them reduce the construction costs and
waste as well as increase safety on the construction site.

This Chinese conglomerate has been credited (3) . Sky City is one of the largest
projects (4) — a skyscraper 838 metres tall and 200 floors high. The project is going to
take 7 months to complete.

Projects (5) hope to address the growing housing problem in China, a result of a
modern rural exodus, making apartment blocks both more affordable and safer, while pushing
the city upwards instead of outwards, sprawling over miles and miles.

A for sustainable building technology E which is 828 metres high

B in a very short period of time F making a statement

C as areal fast builder G with wide and complex social networks
D like this H they are taking on now

Level 111 — Free-Answer Task
IV. Translate into English using the Subjunctive Mood where necessary.
1. Bu B35 O y49acTh y 3aBTPAIIHBOMY KOHKYPCi, IKOU MU Bac 3ampOCHiTn?
2. Slk6u 51 3HaB yci moapodull, s OM HEe CTaB BTpydyaTHCs. AJie 3apa3 BXK€ HIYOIO 3MIHMTH He
MOJKHA.
3. SIxOu TH 3aBUacHO MMoa0aB PO OCH3MH, HaM OM HE J0BEJIOCs 3apa3 JOBUTHU TaKCI.
4. SIkmno s 3aKiHYy poOOTY paHillle, st 3MOXKY 3alTH 10 TeOe.
5. IlixaBo, uu 3ycTpinucs Ou BOHH, sIKOM BOHA HE CII3HMIIACH Ha M0i3/17

V. Translate into English using the right form of the Subjunctive Mood.



1. SIxk Ou meHe He mpocuB Mictep MepacToH, s He npokeHy micrepa Ilerorti (turn somebody
away).

2. JleBin 6osiBest, mio Micic Konmepdinba BBaxkaTrMe HOTO TyPHUM 1 JISTAYHM XJTOMIHKOM.

3. SIxk6u He MicTep MepacToH, MM Bl Oyiu OM IIaciIMBI.

4. Bin noBoauBcs 3 Micic Konmepdinaba, HiOM BoHA Oyj1a JUTHHOIO.

5. Bcim 1aBHO yac 3po3yMmiTH, 0 JOPOTH Ha3a] HEMAE.

. JAOMAIIHE 3ABIAHHS Ne 1 5
AKTHUBHHUMU I ITIACUBHUU CTAH AI€CJIOBA. 3SAUMEHHUKHU. IPUMMEHHHUKH

(THE ACTIVE AND PASSIVE VOICES. PRONOUNS. PREPOSITIONS)
Level I — Multiple choice
I. Choose the correct form of the verb.

1. Paul ... in the River Palace last night. He ... there before.

A has dined; never ate C dined; had never eaten
B has dined; had never eaten D dined; has never eaten
2. Ihear that you ... on Saturday. ... your parents ... ?
A will get married; will ... come C will get married; are ... coming
B are getting married; will ... come D are getting married; are ... coming

3. When...? It ... when you ... to your secretary.
A did it happen; happened; were talking
B it happened; happened; talked
C has it happened; has happened; have been talking
D had it happened; had happened; had been talking

4. Here you are! I ... for you everywhere. Where ... ?

A was looking; were did you be C have been looking; were you
B was looking; had you been D have been looking; have you been

5. You ... so sad, old man. What ... the matter? — I ... a yacht now and I ... more money to
finish it.

A look; is; am making; need C are looking; has; am making; will need
B look; was; have been making; needed D are looking; does; have been making; am
needing

I1. Choose the correct degrees of comparison for the adjectives and adverbs.
1. I feel ... today than I did yesterday.

A better B best C more better D the best
2. Owls sleep ... in the daytime.
A more B most C the more D the most

3. They say in the USA the buildings are ... , the cigars are ... , and the girls are ... than
anywhere.

A taller; longer; prettier C tallest; longest; prettiest
B the taller; the longer; the prettier D the tallest; the longest; the prettiest

4. Do you know that the Dead Sea is ... sea?
A saltier B saltiest C the saltier D the saltiest

5. Julia has been driving ... since her accident.
A carefullier B most carefully C more carefully D the most carefully



Level I1 — Reading Comprehension

I11. Read the text below. Choose from (A-H) the one that best fits each space (1-5). There are
three choices you do not need to use.

As the United States struggles with a declining educational system — and a decline in status
amongst the world's most educated countries — the debate wages on about (1) to
compete with the rest of the world.

According to a Sunday New York Times article (2) parents are sending their
toddlers to intensive tutors to try to get them ahead of the learning curve.

The companies, which take children (3) , teach them maths and reading for 20
to 30 minutes or as long as an hour twice a week at a cost of $200 to $300 a month.

But some educators question whether this intensive learning for toddlers is any more
successful (4) . And if it's not better, is it worth keeping them off the playground?

I am not a mother. But | am fascinated by childhood development, and | am torn on this.
Americans are lagging behind in education, but play is so important for children, especially so

young, it would be hard for me (5) instead of being covered in sand.
A than counting with blocks on the floor E we should raise our expectations of our children
B as young as three years old F who may be pushing their children too hard
C how we can get our kids up G to watch my child struggling over maths
D those who are very superstitious H called “Fast-Tracking to Kindergarten? ”

IV. Read the text below. Match choices (A-H) to (1-5). There are three choices you do not
need to use.

WHY YOU SHOULD BE TOLERANT OF OTHERS

1. Tolerance is mainly known as a willingness to accept others and their beliefs, even if you
don't necessarily agree with them. That's why tolerance is often used in terms of religion (“I
don't agree with his beliefs, but I'm tolerant of them”.) but I like to think of it more broadly.
When I'm stuck on a train beside someone, that's driving me nuts, | don't want to cause a
scene by telling them to shut up and find a new seat. When I'm at a family gathering being
bombarded by stories that I've already heard at the last five family gatherings, | don't want
to upset my relatives by being rude. | want to be tolerant of others and still keep my sanity.
Here are a few tips that can help you to be more tolerant of others.

2. It's really easy to blow someone off as soon as they strike up a conversation with you —
almost like you're mentally rolling your eyes even though you're nodding politely. For once,
listen to what they're saying — really listen. Don't be put off by their appearance or the fact
that someone else told you they're weird a little. Listen to them, at least for awhile — we all
want to be heard.

3. Now that you're listening to someone, resist the urge to totally discount what they're saying
because it sounds “funny” or “weird” to you. If you're not totally sure about the point they're
trying to make, ask them questions. Try to understand what they're telling you — maybe they
aren't getting their point across as clearly as they think they are.

4. You might not agree with the person and their beliefs or opinions, and that's okay. We're all
different. That definitely doesn't mean you have to become best buddies and switch over to
their way of thinking, but once you accept that it's okay to “agree to disagree” it should be a
lot easier to have discussions with people.

5. Yeah, it can be, sometimes. Although becoming more tolerant of others will allow you to get
out of your comfort zone and possibly expand your social circle, you might realize that you
really enjoy someone's company — someone that you would have avoided if you hadn't tried
to listen to them and understand them.

A Always Have a Plan E Tolerance and Patience



B Agree to Disagree F Is It Enjoyable to Be
Tolerant?

C Listen Carefully Without Jumping to Conclusions G Lack of Tolerance

D Try to Understand the Other Person's Point of View H What is Tolerance?

Level I1I — Free-Answer Task
V. Put the five types of questions to the sentence.
His aunt worked at a library last year.

VI. Translate into English.

1. Tgiii apyr 3aiiMaeTbCs COPTOM?

2. Cectpa MOTO YOJIOBiKa CKa3alia, 0 He Mijie Ha KOHIEPT, Ko /kek ii He 3anpocuTh.
3. Moro o HOKJIACHUKH HE BIEBHEHi, IO JI0 TOrO 4acy BiH CKJIaje OCTAHHiil iCIIHT.

4. Tlocnyxaii, sik rapHOo Mepi rpae Ha miaHiHO.

5. BiH HammcaB JUKTAHT Tipiie 3a BCiX.

JOMAIIHE 3ABJAHHS Ne 2
JIENMPUKMETHUK I KOMIIVIEKCH 3 JIENNTPUKMETHHUKOM. MOJAJIBHI

AIE€CJIOBA (THE PARTICIPLE AND PARTICIPIAL COMPLEXES.MODAL VERBS)
Level I — Multiple choice

I. Complete the sentence.
1. The curtains in our living room are badly ... .

A fade B fading C being faded D faded
2. Martin had his application for citizenship ... .
A turning down C turned down
B have turned down D Being turned down
3. Whenever | see a beggar, | feel ... .
A depressing B depressed C being depressed D depress
4. The thought of going to the moon is ... .
A fascinated B fascinates C being fascinated D fascinating
5. The steps ... down to the sea are dangerous.
Aled B being lead C leading D that leading

I1. Complete the sentence.
1. He knew he ... not put the question, but he ... hold it back no longer.

A need, must B should, could C isto, might D may, dare
2. The girl that I spoke of ... have married me twenty years ago.
A was to B isto C areto D amto
3. Diana has a sweet tooth and ... never say 'no' to cakes or biscuits.
A must B should C may D can
4.1 ... say you'd like me to go,’ I said to the Colonel, getting up.
A amto B hasto C need D dare
5. Bill ... his e-mail address — the e-mail | sent him bounced.
A must have changed C will have to change

B can't have changed D must change



Level I1 — Reading Comprehension
I11. Read the text below. Choose from (A-H) the one that best fits each space (1-5). There are
three choices you do not need to use.
Although St Patrick's Day is a traditional Irish holiday, it is celebrated by many people in

the USA. In fact, it is the opportunity for families and friends to get together (1) It
seems (2) the entire city is in the streets with picnic baskets, umbrellas, and their
recreational vehicles enjoying one of the biggest street parties of the year!

Chicago (3) has long-held bragging rights to one of the country's top St
Patrick's Day celebrations. On March the 13th, (4) go green all across town in
celebration of Irish culture and tradition. There's no shortage of stuff to do over this spirited
holiday.

A green Chicago River is the city-wide signal: the St Patrick's Day festivities are officially
on.

(5) remains a beloved ritual for many generations of Chicagoans. This annual
tradition started 50 years ago when the authorities decided to dye Lake Michigan green.

A with its large Irish diaspora population E both locals and visitors

B asif F inseveral cities

C the dyeing of the river G to see the river change colour

D for the typical American H and enjoy a day outdoors

IV. Read the text below. Match choices (A-H) to (1-5). There are three choices you do not
need to use.

THE 5 BEST MOVIES EVER MADE
1  The Matrix
A Wachowski brothers' masterpiece, The Matrix has been widely regarded as one of the
greatest sci-fi movies ever and, besides influencing the genre heavily, it set a new standard
in Hollywood for action fight scenes with its now famous «bullet time» effect.

2 Rear Window
Considered by many critics to be Alfred Hitchcock's best film, Rear Window has been
referenced numerous times in popular culture and has been added to the National Film
Registry due to its being culturally and historically significant.

3 Pulp Fiction
Known for its eclectic dialogues, non-linear story line, and numerous pop culture references,
Pulp Fiction was nominated for seven Oscars and won the Palme d'Or at Cannes film
festival in France.

4 The Godfather
As one of the most respected films ever, The Godfather has repeatedly been recognized as
one of the greatest movies ever made. Never before had any film taken the insider
perspective on a crime family the way it did and, besides having one of the greatest casts,
screenplays, and directors of all time, it had a significant impact on the western culture that
has come to be known as the «Godfather Effect».

5 Citizen Kane
Although after its initial release it faded from the spotlight, after World War 11 Citizen Kane
received critical acclaim abroad. This led to the movie be «rediscovered» by American
audiences and eventually achieving the legendary status it enjoys today at the top of many
«best movies» lists, just like this one.



Which of the movies ?

A has greatly influenced the western culture E is one of the best in the genre of science

fiction

B was filmed almost entirely on one set F is believed to be the best film of a famous
director

C got four Oscars G at first wasn't noticed by the American
audience

D unites separate stories H based on the novel by Alfred Hitchcock

Level 111 — Free-Answer Task
V. Translate into English using a participle or participial construction.
1. Bymno uyrwh, sik rojoc Po3u nepecumtoBas ramip (rise above the din) y BitanbHhi.
2. 3a roauny mictep JIxoHCOH Bxke OyB y Jyikky 3 maictepHo (Skillfully) 3a6unroBanorO
(bandaged) nororo. — Absolute Construction
3. Mu cuninm B cay i criocTepiraim, siK MicCsIIlb IIOBOJII TTiJHIMABCS 3-3a JICPEB.
4. Tligmora, xo4a Ti yacTo 3aMiTaiu, 3HOBY Oyia 3acmiuena. — Participle 11
5. Conre cino, i epeBa 3/1aBaIuCh TEMHUMH, HEMOBOHU BHPI3bOJICHUMHE 3 TEMHOTO MapMypy.

V1. Translate into English using modal verbs.

1. 51 3MOKy NepeKIaCTH IH0 CTATTHO, SKIIO TH IaCH MEHI CIIOBHHKA.
2. Tanmaro, BaM JJO3BOJISATH KOPHCTYBATHCH JITA0OPATOPIETO.

3. Twu He MOXKeIll 3aiTH 10 MeHE yBeuepi?

4. Tlicns 0061ty BOHY IOBHHHI OyJU TTITH HA KOHIIEPT.

5. MoxHBO, BOHA HE OTPUMAaJIa HAIIOTO MOBIIOMJICHHS.



